
Boolean Identities 

 

Identity 𝐴 + 0 = 𝐴 𝐴 · 1 = 𝐴 

Dominance 𝐴 + 1 = 1 𝐴 · 0 = 0 

Idempotence 𝐴 + 𝐴 = 𝐴 𝐴 · 𝐴 = 𝐴 

Inverse 𝐴 + 𝐴 = 1 𝐴 · 𝐴 = 0 

Commutative 𝐴 + 𝐵 = 𝐵 + 𝐴 𝐴 · 𝐵 = 𝐵 · 𝐴 

Associative 𝐴 + (𝐵 + 𝐶) = (𝐴 + 𝐵) + 𝐶 𝐴 · (𝐵 · 𝐶) = (𝐴 · 𝐵) · 𝐶 

Distributive 𝐴 · (𝐵 + 𝐶) = 𝐴 · 𝐵 + 𝐴 · 𝐶 𝐴 + 𝐵 · 𝐶 = (𝐴 + 𝐵) · (𝐴 + 𝐶) 

Absorption 𝐴 · (𝐴 + 𝐵) = 𝐴 𝐴 + 𝐴 · 𝐵 = 𝐴 

DeMorgan’s (𝐴 + 𝐵) = 𝐴 · 𝐵 (𝐴 · 𝐵) = 𝐴 + 𝐵 

Double Complement 𝐴̿ = 𝐴 

FOIL (𝐴 + 𝐵) · (𝐶 + 𝐷) = 𝐴 · 𝐶 + 𝐴 · 𝐷 + 𝐵 · 𝐶 + 𝐵 · 𝐷 

Disappearing opposite 𝐴 + 𝐴 · 𝐵 = 𝐴 + 𝐵 


